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ECONOMICS
( Major )
Paper : 2.2
( Macroeconomics’—llA)

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions |

Answer either in English or in Assamese

1. Answer the following questions as directed :

T s T

(a) What is the most common method of
measuring inflation?

TArRIR cared BRSSP MR “Tafech! R 2

(b) Choose the correct answer :
o5 Teahl MR Sforea :
A decrease in the interest rate will
increase the level of investment spending
since, the cost of borrowing will decrease/
the value of government bonds will |
decrease. }
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Ch
oose the correct answer :

@tﬁw?@%ﬁ{m;

The IS
o curve gets flatter as, money
becomes less sensitive to

chan i
i gi::l In  the interest rate/the
Y Propensity to save decreases.
(RCFR oF 9 =, Rz
3 , S K RG]
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C
hoose the correct answer :
R e 1% Sfare -

3 the followi
Inflationp oflowing does not cause

SEID
fitam CPITE] WP@%? DA 75y 2

{u Inﬂi“e‘:ased taxes
(5% %4

(i) Inep
_C] €ased government expenditure

TR 5399 7

ACCOrding to K

arises oyt o eynes, demand for money

— __ motives.
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(3)

ch phase of business cycle occurs

Whi
omic activity hits its

when aggregate econ
lowest point?
oo SAFeE AR T frew =,
cofom ey 5epd (IO SR P 7

Choose the correct answer :
w7 TEA0! AIfR fee

The value of money and the pric

are related
a1 o8 S &4 & T

e level

(i) inversely
EEaCl

(ii) directly
CENL

(h) What does & vertical IS curve mean?

o g 1S A 1 TEm 2

ate one similarity between Fisherian

(@i St
version of

version and Cambridge
quantity theory of money.
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2. Answer the following questions :

(4)

() State the relationship between quantity
of money and general price level in

transaction approach of quantity theory
of money.

TE ARG Ogq W @R 4RI SRS
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(@) What is IS curve?
IS @31 fd 9

(b)

How is the LM curve derived from money
market?

WWLM@WWW‘TW@?

(c) What does p - _A/;fﬂ_V in Fisher’s equation

2x5=10

(@)

(5)

State the normal relationship that exists
between liquidity preference and rate of
interest. What is liquidity trap?

e A oE A A TGS = A4
‘o 1 | O R0 92

fe) Define inflation.
Jurfen e i |
Answer the following questions : 5x4=20
e T A s fi
(@) “Inflation 1is unjust, deﬂaticTn %s
inexpedient, of the two deflation is

worse.” Explain.
ok B 2 <, TR 25 129,
- Wmﬁﬁ? Q@R 17 3 4

or/ 79

How can the inflationary gap be wiped

out?
gf exfhange mean? What is meant W:}WC S AN ?
Y Vvelocity of circylation in Fisherian : :

quantity e r; in Fis (b) Explain the relationship between
money?: speculative demand for money and rate

R R >8iaers p - % @ & P2 of interest:
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4.
Adswerjine following questions :

o710 Tl T3 e fo
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(c) State the factors that determine the

slope and position of the LM curve.

;M@Wmmwmmﬁwqw
TATPTR Beary 3047 |

Or / «&dr
Explain the effect of cut in taxes in the

level of income U i
Curve, + se diagram of I1S-LM

“TH FRaRTe 39 2R 2o R T, I1S-LM
1T stzpre < 541 |

p i tll i i us

M Sz tafigam 24 4

Explain different phases of business

cycle with the help of Hawtrey’s
monetary theory.

T (Hawtrey) @fire w57 TS Ty
v fifen SRR e 40 |

(b)

(c)

( %)

Or / =gl

“True inflation may be said to begin
when the elasticity of the supply of
output in response to changes in the
supply of money falls to zero.” Discuss.

“ofem @R QRS AfgeTd dfs TR
@eeR Rfegere i AR wwKE, cofe
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Critically explain the Fisher’s version of
quantity theory of money.
DR offqmig ©El %535% 51§ ﬁ'q"it'i?ﬂ
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Or / 7gdl
Discuss the features of IS and LM curves.
Explain the role of IS and LM curves in

the determination of equilibrium rate of
interest and level of income.

IS 9F LM @¥R CIFERas seEms 4 |
1S W LM @R W s g ue
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Write short notes on :
oy ol fere
(i Structural inflation
E %
(ii) Keynesian approach of quantity
theory of money
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Or / T

Discuss how Hicks’ theory of business
cycle explains the cyclical fluctuations in
the economy.

Re affer & wgz weERR vwde
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(d) Explain the effects of inflation on output
and income distribution.

AT e {ogd SoFS JUTRINe AR
T ¥4 1

Or / T2l

How Cambridge version of quantity
theory of money 1S superior to FiSherian
approach? Explain briefly.
@ g RS THO TR TqeL
(P Ty 9wy ] 1 |
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